

Name: Wdoh Imoh Victoria

Dept: Petroleum Engineering

Matriculo: 19/ENGG07/022

Lecturer's name: Dr Funmi Oyelami

Date of submission: 09-05-2020

Questions

Find the integral of the following (i)  $\frac{(3x-1)}{(x-1)(x-2)(x-3)} dx$  (ii)  $\frac{(x^2+x+1)}{(x^2+1)^2}$   
(iii)  $\frac{(x^2+1)}{(x-3)(x-2)^2} dx$  (iv)  $\frac{(x^3+x^2+x+1)}{(x-1)} dx$

Solution

$$1) \frac{(3x-1)}{(x-1)(x-2)(x-3)} = \frac{A}{(x-1)} + \frac{B}{(x-2)} + \frac{C}{(x-3)}$$

$$= \frac{A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)}{(x-1)(x-2)(x-3)}$$

Canceling denominator

$$3x - 1 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

let  $x = 1$

$$3(1) - 1 = A(1-2)(1-3) + B(1-1)(1-3) + C(1-1)(1-2)$$

$$2 = A(-1)(-2) + B \times 0 + C \times 0$$

$$2 = 2A \quad \therefore A = 1 //$$

let  $x = 2$

$$3(2) - 1 = A(2-2)(2-3) + B(2-1)(2-3) + C(2-1)(2-2)$$

$$6 - 1 = A \times 0 + B(1)(-1) + C \times 0$$

$$5 = -1 \quad \therefore B = -5 //$$

let  $x = 3$

$$3(3) - 1 = A(3-2)(3-3) + B(3-1)(3-3) + C(3-1)(3-2)$$

$$9 - 1 = A \times 0 + B \times 0 + C \times (2)(1)$$

$$8 = 2C \quad \therefore C = 4 //$$

Hence

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} = \int \frac{1}{x-1} + \frac{-5}{x-2} + \frac{4}{x-3} dx$$

$$= \int \frac{1}{x-1} dx - 5 \int \frac{1}{x-2} dx + 4 \int \frac{1}{x-3} dx$$

$$= \log|x-1| - 5 \log|x-2| + 4 \log|x-3| + C //$$

$$2) \frac{(x^2+x+1)}{(x+2)(x^2+1)} dx = \frac{x^2+x+1}{(x+1)(x+2)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

Cancelling denominator

$$x^2+x+1 = A(x^2+1) + (Bx+C)(x+2)$$

let  $x = -2$

$$(-2)^2 + (-2) + 1 = A((-2)^2 + 1) + 0$$

$$4 - 2 + 1 = 5A \quad \frac{3}{5} = A$$

let  $x = 0$

$$x^2+x+1 = A(x^2+1) + (Bx+C)(x+2)$$

$$0^2 + 0 + 1 = A(0^2+1) + (0+C)(0+2)$$

$$1 = A + 2C$$

$$1 = \frac{3}{5} + 2C$$

$$1 - \frac{3}{5} = 2C$$

$$\frac{2}{5} = 2C \quad C = \frac{1}{5}$$

let  $x = 1$

$$x^2+x+1 = A(x^2+1) + (Bx+C)(x+2)$$

$$1^2 + 1 + 1 = 2A + (B+C)(3)$$

$$3 = 2A + 3(B+C)$$

$$3 = 2\left(\frac{3}{5}\right) + 3\left(B + \frac{1}{5}\right)$$

$$3 - \frac{6}{5} = 3\left(B + \frac{1}{5}\right)$$

$$\frac{9}{5} = 3\left(B + \frac{1}{5}\right)$$

$$\frac{3}{5} - \frac{1}{5} = B \quad \therefore B = \frac{2}{5}$$

$$\frac{x^2+x+1}{(x+1)(x+2)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$\frac{x^2+x+1}{(x+1)(x^2+1)} = \frac{3}{5(x+2)} + \frac{1(2x+1)}{5(x^2+1)}$$

$$\int \frac{x^2+x+1}{(x+2)(x^2+1)} dx = \int \frac{3}{5(x+2)} dx + \int \frac{1}{5} \frac{(2x+1)}{x^2+1} dx$$

$$= \int \frac{3}{5(x^2+1)} dx + \frac{1}{5} \int \frac{2x}{x^2+1} dx + \frac{1}{5} \int \frac{1}{x^2+1} dx$$

↑  
equation (i)

$$\frac{3}{5} \int \frac{1}{x+2} dx$$

$$= \frac{3}{5} \log|x+2| + C_1$$

↑  
equation (ii)

$$\frac{1}{5} \int \frac{2x}{x^2+1} dx$$

$$\text{let } t = x^2 + 1$$

$$\frac{dt}{dx} = 2x$$

$$dt = 2x dx$$

substituting

$$= \frac{1}{5} \int \frac{dt}{t}$$

$$= \frac{1}{5} \log|t| + C$$

$$= \frac{1}{5} \log(x^2+1) + C_2$$

↑  
equation (iii)

$$\frac{1}{5} \int \frac{1}{x^2+1} dx$$

$$= \frac{1}{5} \tan^{-1}(x) + C_3$$

∴ hence

$$\int \frac{x^2+x+1}{(x+2)(x^2+1)} dx = \frac{3}{5} \log|x+2| + \frac{1}{5} \log(x^2+1) + \frac{1}{5} \tan^{-1}(x) + C$$

where  $C = C_1 + C_2 + C_3$

$$3) \frac{(x^2+1)}{(x-3)(x-2)^2} dx = \frac{x^2+1}{(x-3)(x-2)^2} dx = \frac{x+1}{(x-3)(x-2)} + \frac{x+1}{(x-3)(x-2)^2}$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{(x-2)^2} = \frac{A(x-2)^2 + B(x-3)}{(x-3)(x-2)^2}$$

$$A(x-2)^2 + B(x-3)$$

let  $x=1$

$$A(1-2)^2 + B(1-3)$$

$$A(1) + B(-2) \quad \therefore A = -2$$

let  $x=2$

$$A(2-2)^2 + B(2-3)$$

$$A(0) + B(-1) \quad \therefore B = 0$$

$$4) \int \frac{(x^3 + x^2 + x + 1)}{(x-1)} dx$$

$$\int \frac{x^3 + x^2 + x + 1}{x-1} dx$$

$$\int \frac{x^2(x+1) + 1(x+1)}{x-1} dx$$

$$\int \frac{(x^2+1)(x+1)}{x-1} dx$$

$$\int (x^2+1) dx$$

$$\int (x^2 + x^0) dx$$

$$\int x^2 dx + \int x^0 dx$$

$$= \frac{x^{2+1}}{2+1} + \frac{x^{0+1}}{0+1} + C$$

$$= \frac{x^3}{3} + x + C //$$